
 1270
Su 08 HOMEWORK #16 solution

EX: Give numerical answers to each of the following questions:

a) Rationalize 

€ 

−65 + j3
−52 − j39

.  Express your answer in rectangular form.

b) Find the rectangular form of 

€ 

2
e− j45°

 

 
 

 

 
 
*
.  (Note: the asterisk means "conjugate".)

c) Given ω = 9 rad/sec, find the following inverse phasor:
P–1[6cos(40°)(1 + j)]

d) Find the magnitude of 

€ 

j
4 + j
 

 
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 
 
e j15°

4 − j
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 
  
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 
  .

e) Find the real part of 

€ 

10e j360°

j2
.

SOL'N: a)

€ 

−65 + j3
−52 − j39

=
−65 + j3
13(−4 − j3)

€ 

=
−65 + j3
13(−4 − j3)

⋅
−4 + j3
−4 + j3

€ 

=
260 − 9 − j195 − j12

13(42 + 32)

€ 

=
251− j207
325






